832

Ooooooooo

O0@320¢ 250000
00000000000

eJJ000OOOOOOOODOOOCOOOOOOO
ooomomoooooooboooooouno
ooooooooooo

gooooooo

goooogooo

goooood

0 O oooooOoooo

0O0O0DO0 O O m ©321p 401p 50tp 631p 80k 100p 125 1p 140 kp 160 tp 180 tp 2001p 2500

0O 0 0 0O 0 O 1MPal

O 0 0 1.5MPal

0 0 0.1MPall

0O 0O 0 0O 0 O 801 300mn0 sO

0O 00 0O o0 o 01000800 000000000 DO0MO0N00m

0 0 0 0 oooooOo0oOoooooOoo

0O0DD0DO0DO0DOoOo ooooo

0 0 0 0 JIS 6g/6HO

ooooooooooo 250mm0 O B 2510 1000mmd §4” 10010 2000mm 2 58

0 0 0 0 SDO LBO FAD FBO CAD CBO CCO CDO TAD TC
ooooo 00o0000000000000000000000000000

Oooo |0DDoDOoao 1M TO W0 00000 SO M2 YO M OOOF0 000 M FOO
O O O cB/CDUOOOOOOTATCOOOODOO

O0efjUOO0000O0O0OO0OOODOOOOSOM/sOOOOODOOOOO
OD0e00000D00O0DODOOODOODODOO

ooo0oooooooo

000 mm

oooooo 00000000000
032 0 8000

940 012000
©501p 63 0 14000
9801100 0 1800

1oty 2003 20 112000

goo0ooO0o0o0o0o0o0o0o0o00o00oo00oo0o
goobooOoooOooOoOoOooOoOobOOoOOoOooO

oooad gooomm

oood ®32 @40 @50 @63 @80 @100 @125 ¢ 140 ¢ 160 ¢ 180 ¢ 200 ¢ 250

goooooo
ooooo
oooo 0000000 | ooooooon W/O ow
oooo oooooO0O | oDoooooo ooo ooo
o o X o o
ooad O00kg
ooooo oooooo oooooo
el ettt P e 10 10 20 | FO
m [0SDOO| oo | LB | FA FB | CA | CC | CB | CD | TA | TC | | 0YOO) 000
ooo JFOO
032 1.23 |0.00251| 0.19 | 0.18| 024|012 | O 012 | O 005 | 030 0.08 | 0.16 | 0.22 | 0.10
940 1.68 |0.00338 | 0.23 | 025| 032|018 | O 015 | O 019 | 048 0.11 | 0.16 | 0.34 | 0.10
50 2.67 |0.00534| 0.36 | 040 | 050 | 026 | O 030 | O 019 | 055|020 | 0.21 | 0.41 | 0.38
063 4,04 |0.00638 | 0.46 | 0.55| 0.65| 0.42 | O 039 | O 019 | 070 | 0.20 | 0.21 | 0.41 | 0.38
©80 7.84 |0.00916 | 0.86 | 1.38 | 1.59 | 1.08 | O 080 | O 019 | 1.16 | 0.36 | 0.62 | 1.06 | 0.72

@100| 11.63 |0.00984 | 1.12 199 | 220 1.39 O 1.05 ] 0.19 153 | 036 | 0.62 | 1.06 | 1.30

¢125| 16.11 |0.0154 | 2.0 258 | 258 | 0.57 259 | 0.76 | 2.86| 0.19 278 | O 124 | 147 | 2.47

©140| 2463 |0.0223 | 283 | 438 | 438 | 094 | 505| 1.72 | 569 | 0.57 | 4.90 240 | 3.32 | 430

¢160| 30.56 |0.0232 | 322 | 548 | 548 | 1.35 6.18 | 1.82 6.73 | 0.57 5.90 240 | 332 | 430

(180| 40.52 |0.0535 5.69 722 722 | 1.25 9.04 | 1.72 9.73 | 0.57 6.19 240 | 3.32 O

o|jo|o|Oo

®200| 46.72 |0.0493 | 6.12 | 830 | 830 | 1.25 |10.18 | 1.72 | 10.86 | 0.57 7.20 240 | 3.32 u}

¢250| 89.85 |0.0635 | 8.38 | 15.70 | 15.70 | 3.23 |20.10 | 422 | 21.30 | 1.15 | 1240 | O 462 | 5.93 u}

[D0OohoDDO0mMkg@MOOOO0MO00001mI0000000x000000000mMO000000000000
[00Op10HI3000¢630000000000200mI LB
000 0 4.0400 0.00638x 200(1] 0.46(] 5.776kg

Ooooooooo



gooooooo

= 10H02

go0o0O00000o0O00oa

0 @
00O (10H02) 14 1000
goooo goooooooo
oooooo

0000000 mo

000 ¢ 32p40e 509 6309 801 1001 s
¢ 12509 140J¢ 1609 1800¢ 20009 250 CBLTALTC

ODooooooobDOmmO

ObooooomToO
Obooooooooomyoo
Oooooooooooomsoon
OoooooomFroO

Ooooooooo

goooogooo

ooog
[sbjooO [cAlooo [TA]ooDoooooooo

&
©
@

@

B)
[

(LBlooooooO

[cclonome 1250¢ 250000

M @ ® S5
.
[FAlooooooooo [cB]cBmOoooooo
A =4
@A &) & m\h
@ P A MPZ
[: B
[FBlooooooooo [cD] 0000 me 12509 250000

©
©
@

@

(Tcloooooooo

@

©

o

0o00oO0o00000000000000O0O0DDOOOOO0
goo0o00000000000000b0000O0O0000
goopooosboooooO0ooooOoooooooo

go0o000oO0o0oO0oO0000b00b00000000O0

go00000000000000000000000O0

0000000000000000D000000000
000070120100000000000000Ne512000

gooooooooood

ooo ooo
032 LNAD 1020 A
940 LNAD 1220 A
950163 LNAD 1620 A
©801p 100 LNAD 2020 A
9125 LNAD 2720 A
© 1407 1601 1801 200 LNAD 3620 A
9250 LNAD 4220 A

Ooooooooo



Ooooooooo

10HI?2

BNoooo

gooooooo

e 0000D@IOOIONCOOIO®

30000000000000000
00000000000@0000000000000®0000
00000000000000000000000000000000000

0o 10HO2 1CB80 N1000 oB0OJ
0| o

00 0000ABICD

000000ABICIDOOO

e 000000000 DODONONONONDOODDNONNDNONONOODDONONNONDAOCODDNND@®IOD0N00N

ooooooon

e0ODODODO

e0000IDOODDOOOO M WOWFOAKKO

MM

KK

eTCOONDOOODOOODOOODOPHO

Inanil
fa=as

goooogooo

Jgoodoooooooodoioodn ODOON
oooo 000 MPamMm
DD""?D DDDmEDD 0 nm2(] 0.2 03 0.4 0.5 0.6
O n} O ] O O n} O ] O O n}
@320 120 8040 6910 16100 1380| 2410 2070] 32200 2760 40200 3460] 4830 4150
@400 160 | 12570 105600 2510| 2110| 37700 3170 50300 4220 6280 5280 7540 6330
@500| 220 | 19640 15830 3930| 3170 5890 4750 78500 6330 9820 7920 11780 9500
@630| 220 | 31170 27370 6230| 5470| 93500 82100 124700 109500 15590] 13690] 18700] 16420
@800 250 | 50270 453600 10050 90701 15080] 13610 20110| 181400 25130 22680 30160 27210
©1000) 250 | 78540 73630| 15710| 14730| 23560 22090 31420) 294500 39270 36820 471200 44180
@1250) 320 | 1227200 114680| 24540| 22940 36820 34400 49090| 45870 61360 57340 73630 68810
@1400] 400 | 153940] 141370| 30790]| 282701 46180] 42410 61580 56550] 76970 70690] 92360 84820
©160[] 400 | 201060] 188500 402101 377001 60320] 56550 80420] 75400] 100530 94250 120640 113100
©1800] 400 | 254470 241900| 50890| 483801| 76340 72570 101790] 96760 127230 120950 152680 145140
©20001 400 | 314160 301590 62830| 60320| 94250 90480 1256601 120640 157080 150800] 188500 1809601
@250| 45 | 49088 | 47497 | 9818 | 9499 | 14726 | 14249 | 19635 | 18999 | 24544 | 23749 | 29453 | 28498
oooo 0000 MPad
DDmED DDDmEDD 0 mm?0] 0.7 0.8 0.9 1
O n} 0 ] 0 O n} 0 n] 0
©320 120 8040 6910 5630 4840 6430 55300 7240 62200 80400 6910
@400| 160 | 12570 105600 8800 7390 100500 8440 11310 9500 12570 10560
@500 220 | 196400 15830) 137400 11080 15710 126700 17670) 142500 19640 15830
©630| 220 | 31170 27370| 218200 19160 249400 21900 28060] 24630 31170] 27370
©800| 250 | 50270 453600 351900 31750 40210 362900 452400 40820 50270 45360
@1000] 250 | 78540 736300 549800 51540 62830 58910 70690| 66270 78540 73630
@125[] 320 | 122720] 114680] 85900 80270] 98180] 91740 110450) 103210 122720] 114680
©1400] 400 | 153940 141370} 107760 98960 123150 113100] 13854[0) 127230 153940 141370
©1600] 400 | 201060 188500 140740 131950 160850 150800 180960 169650 201060 188500
@1800] 400 | 254470 241900 178130 169330 203580 193520] 229020 217710 254470 241900
©2000] 400 | 314160] 301590) 21991(] 21112[0] 251330 241270] 287240 271430 314160] 3015901
©250| 45 | 49088 | 47497 | 34361 | 33248 | 39270 | 37998 | 44179 | 42747 | 49088 | 47497

eJ00OONDIOODIOm2x 000 00MPal

Ooooooooo



838

10HI?2

gooooooo

000 mm
10H-201 SD[OO|N[DOOOO
e 320 ¢ 100
fe
: —~
EeEIRIE!
B D zBOOOOOO
2000000
A |w._ FP POOOOOD
20EE 40DD
AR A
-D S |~
0 §
0
E oooo
0 | FlL 9 HODDOOD K
U LFOODO0O BB
0
® 12500 ¢ 250
, ’_H
B @ D1 zB000000
b —4 2000000
- A WF_ P PODDOOO
_h_ | Vv 20EE 400D
A
© @
P
® /\ 3®MMI A D
& & Ve
e T 9®
ooooo
:}.
AR (RN )
C
RE KK nonn
RR J HOOoOooad K
E loos LLooooono |BB

goooogooo

000 mm
ooo
oo
A B B1 BB D DD E EE = EE H h J
oo
@320 2211900 @ 240/ 170 70 100 | OMeéx 10 0440 Rchs 100 340 300 60 380
@400 |241210¢@ 300 190 70 130 | O Méx 10 0500 | Rehaf 100 340 300 70 380
@500 |32128[He 340 220 70 190 | OMé6x 10 0 620| Rchall 100 340 300 100 380
@630 |32128[0¢ 340 220 o0 190 | OM8x 1.250 | 0 760 | Rc¥sl] 100 340 330 100 380
@ 800 |40 3600 390 270 100 220 | OM10x 1.250| 0 940 | Rc3sl] 160 430 310 120 450
¢ 1000 | 401 360 3900 270 100 220 | OM10x 1.250| 01140 RcH20 160 430 310 120 450
@ 1250 | 541 49 ¢ 4600 360 130 270 | OM12x 1.50 | 0138 Rclbzf] O 0 370 160 450
@ 1400 | 721 670 @ 550/ 500 160 360 | OM16x 1.50 | O 1560 Rcdlal] O u} 430 200 500
@ 1600 | 721 67D @ 550 500 160 360 | OMi16x 1.50 | 01780 Rc3al] O 0 430 200 500
¢ 1800 | 721 670 ¢ 5500 500 160 360 | OM16x 1.50 | 02000 Re3al] O O 430 200 500
@ 2000 | 721 67 ¢ 5500/ 500 160 360 | OM16x 1.50 | 02160 Rc3al] O O 430 200 500
@ 250 |84179[] ¢ 60 60 19 41 0 M20x 1.5 0270 | Rc 1 ] u} 55 22 57
oo
K KK LF LL MM B RE RR VF w WF YP zB VA
oo
¢ 320 250 | M10x 1.2500| 1030 O @120, 580 O o330 O 50| O 0 1250| 1180
¢ 400 250 | Mi2x 1.250| 1030 O @160 580 O o370 O 150 | O u} 1250| 1180
@500 250 | Mi6x 1.50 | 1030 O @220, 580 O o470 O 10| O O 1250| 1180
@630 250 | Mie6x 1.50 | 1060 O @220 610 O osed| O 50| O O 1300| 1210
@ 800 320 | M20x 1.50 | 1240 O @250, 670 O g7oo| O 90| O 0 1530| 1430
@ 1000 | 320 | M20x 1.50 | 1240 OO | @ 2500 670 OO 0840 OO | 190 | OO 00| 1530 1430
@ 1250 320 | M27x 20 O 1140| ¢ 320 730 O 650 0 10401 210 0 350 | 270 | 1620| 1490
@ 1400 | 380 | M36x 20 u} 1310| @ 400, 850| O 7600 012301 250 | O 410 | 290 | 1880| 1720
@ 1600 | 380 | M36x 20 0 1310| @ 400 8500| O 760 O 1340 250 u} 410 | 290 | 1880| 1720
¢ 1800 | 380 | M36x 20 O 1310| ¢ 400, 850| O 760 015601 250 | O 410 | 290 | 1880| 1720
@ 2000 380 | M36x 20 O 1310 ¢ 400 8500| O 760 O 16301 250 0 410 | 2900 | 18800 1720
@ 250 50 M42x 2 u} 162 | @45 | 109 | 090 |O0202| 30 oo| 48 30 229 210

OAOOO0O0O0O0O0O000OO0O0000000

ooboooooooooooon

DDO O
0o
u] u]

¢80 M10x 1.5 M10x 1.25
¢ 100 M10x 1.5 M10x 1.25
®125 M12x 1.75 M12x 1.5
®140 M16x 2 M16x 1.5
®160 M16x 2 M16x 1.5
¢ 180 M16x 2 M16x 1.5
®200 M16x 2 M16x 1.5
¢ 250 M20x 2.5 M20x 1.5

OoobooOoOoOoOoobobOoOOO0O00O0O0ODDOOO
oboo00ooooOOoO0O0OooOooOoOOoO0OOO0o0DD
goooooooOoooOosbooOoOooOOOOO
gboo0oooobOoOO0O0OooooOOoOOOoODD
gboo0oooobOoOO0O0OooooOOoOOOoODD
gboo0oooobOoOO0O0OooooOOoOOOoODD
ooooooO0obOO0obOO0OO0OO0O0OOoOooDOobO7012

0100000000000000No0512000

Ooooooooo



840

gooooooo

000 mm
10H-201 LB[OO]N[ODOOOO]
° 320 ¢ 100
B L o
| XADOD 000
A |w _ FP POOOOOD
ooz h 20EE
& |
H H L il
. © @ g1 aEc
0 o (D) o w & S
AE
: O 2 i
E AHATj(i @ @ "t:; &_
E ! Lo - ; v -
0 R \anag KK oooo
UA AL F J HOOOOooo K AL
| SADODODO AQ|
® 1250 ¢ 250
’_‘J
D —
* e o]
: —4 XADDOOOOO
e | _oos A | WF_ P POOODOD
RE h | Ve 20EE
®
I~ V7 N I T
© © i ~B
® | ©
D B MM :
" oo | = N lad
AH — =
W@ | ® b
40AB/ R oooo
UA AL |3 HOODOOO K | AL
la sADD0O000 ag

10HUI?2

ooom goooogooo
ooo
oo
A AB AE AH AL AO AT B B1 D E EE 7 FP H h
oo
@ 320 (221190 ¢ 90 5500 330 230| 100 50| @ 240 170| 1000|0440 Rclslp 100| 340| 300 60
@ 400 (2412100 1200 6000 3500 250| 120 50| @ 300 190| 1300|0500 Relalp 100| 340| 300 70
@ 500 |3Z1280¢ 1200 7200} 410 260| 120 60| @ 3400 220 1900|0620 Rehalp 100| 340| 300 | 100
@ 630 (32280 1200 860 480 280| 120 60| ¢ 340 220| 190|0 760 Rc3sl 100| 340 330 | 100
@ 800 |4Q 360 1400 1060)] 590 340| 140 80| @ 390 270| 2200|0940 R8P 160 | 430| 310 | 120
@ 1000 |40 360 1400 12300) 660 340| 140 80| @ 390 270| 220|0114[RcY2] 160| 430| 310 | 120
¢ 12500 | 540 4900 18] 1480| 790| 430| 180| 100 | ¢ 460 360| 270|0 138PRcH20] O 0 370 | 160
¢ 1400 7206700 220 1710, 930 500 220| 100 | @ 550 500 | 3601|0 156[IRc34l) O ] 430 | 200
@ 1600 | 720 67000p 220] 1870| 980 500| 220 100 | ¢ 550 500| 360 |0 178PRc34l O 0 430 | 200
¢ 1800 | 720 67000p 2200 2150| 1150 550| 220 150| ¢ 550 500 | 360 |0 200pRc34l O O 430 | 200
¢ 2000 | 720 67000 2200 2260 1180 550| 220 150| ¢ 550 500| 360 |0 216[RcI4 O O 430 | 200
@250 (841790 @ 26 | 276 | 141 60 24 15 | @60 | 60 41 (0270/Rc 1| O ] 55 22
oo
J K KK MM P R RE SA UA VF w WF XA YP
oo
¢ 320 380| 250| M10x 1.250| ¢ 120 580 330 O 1490 540 O 500 O 1410 O
¢ 400 380| 250| Mi12x 1.250| ¢ 160 580 370 ] 1530 600 O 50| O 1430 O
@500 | 380| 250 M16x 1.50 ¢ 220 580 470 O 1550 700 O 500 O 1440| O
@630 | 380 250 M16x 1.50 ¢ 220 610 560 u] 1620 8od| O 1500 O 1400/ O
¢ 800 450| 320| M20x 1.50 ¢ 250 670 700 O 1920 970 O o0 O 1770 O
¢ 1000| 450| 320 M20x 1.50 ¢ 250 670| 840 oo 1920/ 1140| O0O| 190 O 1770 OO
¢ 1250/ 450| 320| M27x 20 ¢ 320 730] 1040| O e50| 2000( 13800 210| O 35 19200\ 270
¢ 1400| 5000 380| M36x 20 ¢ 400 850| 1230 O 760| 2310 1560| 250| O 41 22200 290
¢ 1600| 5000| 380| M36x 20 ¢ 400 850]| 1340 O 760| 2310 1780 250| O 41 2220| 290
¢ 1800| 5000| 380| M36x 20 ¢ 400 8500| 15600| O 760| 2410 2000| 250| O 41 2270| 290
¢ 2000| 5000 380| M36x 20 ¢ 400 8500 1630| O 760| 2410 21e00| 250 O 41 22701 290
¢ 250 57 50 M42x 2 ¢ 45 109 202 090 282 270 30 0 48 270 30

OAOO0OD0O0O0O0O0O000OO0O0000000

Ooooooooo



842

Ooooooooo

gooooooo

000 mm

10H-20 1 FA[DO] N

® 320 ¢ 100

I

zBOOOOOO

pPOOOOOO

E ogz7 h 20EE

EF| R

©

o T

oooo
HOOOOOOo

LFOOO0000

BB

® 1250 ¢ 250

zBOOOOOO

0os A WF__YP.

POOOOOO

RE h 20EE
® 40AB

EF| R

jaus)

o4

ko)

o
m
1=

oooo
HOOOOOO

LFOOO0Oo0og

BB

goooogooo

10HUI?2

000 mm
ooo
oo
A B B1 BB D E EE EF = FB H h J K
oo
@320 (221190 @ 240 170 70 100 | 0440 RcHs] 470| 100 | ¢ 70 300 60 380 250
@ 400 (2412100 300 190 70 130 | o500 RcH4l 520| 100 | ¢ 70 300 70 380 250
@ 500 [32Z128[[g 340 220 70 190 | 0620 Rchal) 650| 100 | ¢ 90 300 100 380 250
@ 630 321280 340 220 o0 190 | 0760 Rc3sl 760| 100 | ¢ 90 330 100 380 250
@ 800 (401360 390 270 100 220 | 0940 Rcsl) 950| 160 | ¢ 120 310 120 450 320
¢ 1000 401 360 390 270 100 220 | O 1140 Rch20) 1150| 160 | ¢ 120 310 120 450 320
@ 1250 |541 49g 4600 360 130 270 | 0138 Rch20) 1380 160 | ¢ 140 370 160 450 320
@ 1400 | 721 671 550 500 160 360 | O 156[1Rcal) 15600 200 | ¢ 180 430 200 500 380
@ 1600 | 721 671 550 500 160 360 | 0178 Rcal) 1780| 200 | ¢ 180 430 200 500 380
¢ 1800 | 721 671 550/ 500 160 360 | 02000 Rcal) 2000 | 200 | ¢ 180 430 200 500 380
@ 2000 | 721 67[[H¢ 55000 5000 160 360 | 0216 Rc3al) 2160| 200 | ¢ 180 430 200 500 380
@ 250 841790 @ 60 60 19 41 0270| Rc 1 | 270 25 ¢ 22 55 22 57 50
oo
KK LF MM P R RE TF UF W WF YP ZB
oo
¢ 320 M10x 1.250| 1030 | ¢ 120 580 330 0 580 720 | 150 250 240 1250
@ 400 M12x 1.250| 1030 | ¢ 160 580 360 O 700 840 | 150 250 240 1250
@500 M16 x 1.50 1030 | ¢ 220 580 470 O 8600 | 1040 | 150 250 240 1250
@630 M16 x 1.50 1060 | ¢ 220 610 560 0 9800 | 1160 | 150 250 240 1300
¢ 800 M20 x 1.50 1240 ¢ 250 670 700 0 1190 | 1430 190 350 270 1530
¢ 1000 | M20x 1.50 1240 | ¢ 250 670 840 oa 1380 | 1620 | 190 350 270 1530
@ 1250 | M27x 20 1300 | ¢ 320 730 | 1040 | O 650 | 1680 | 1960 | 190 350 270 1620
@ 1400 | M36x 20 1510 | ¢ 400 8500 | 1230 | O 760 | 19000 | 2260 | 210 410 290 1880
@ 1600 | M36x 20 1510 | ¢ 400 8500 | 1340 | O 760 | 2120 | 2480 | 210 410 290 1880
@ 1800 | M36x 20 1510 | ¢ 400 850 | 1560 | O 760 | 2340 | 2700 | 210 410 290 1880
@ 2000 | M36x 20 1510 | ¢ 400 8500 | 1630 | O 760 | 25000 | 2860 | 210 410 290 1880
@ 250 M42 x 2 187 @ 45 109 201 O 90 312 356 23 48 30 229

DAD0O000DO0O0OO00MOOoO00ooo0o0o

Ooooooooo



844

Ooooooooo

gooooooo

goooogooo

000 mm 000 mm
FB oood
0o
10H-201 FB[OO] N[OOOCOO A B B: D E EE | EF F FB | FP H h J K
oo
00 3200 100 @320 |222190 @240/ 170| 100 |0 440| Rebsl] 470| 100 | @70 | 340| 300 | 60| 380| 250
[ [
©400 |2412100¢ 300/ 190 | 130 |o500| Relad] 520| 100 | @70 | 340 | 300 | 70| 380| 250
@500 |37 2800¢ 340 220 | 190 |0 620 | Relar] 650| 100 | @90 | 340 | 300 | 100 | 380 | 250
5_ ©630 |321280N¢ 340 220 | 190 |0 760| Redlsl] 760| 100 | @90 | 340 | 330 | 100 | 380 | 250
7 I ©800 |4@W360¢ 390 270 | 220 |0940| Redsl] 950| 160 | ¢ 120| 430 | 310 | 120 | 450| 320
. ﬁ‘ﬁﬁ% DI © 1000 |4@ 3600 @ 390 270 | 220 | o 1140) Rebz] 1150| 160 | ¢ 120| 430 | 310 | 120 | 450 | 320
O @ 1250 5414901 ¢ 460| 360 | 270 |0 1380] Rebzl] 1380| 160 | ¢ 140| O 370 | 160 | 450| 320
[ — © 1400 | 7216700 ¢ 550| 500 | 360 | 0 1560 Redlal] 15601| 200 | ¢ 180| O 430 | 200 | s00| 380
A lw_ POOOOOO ‘ © 1600 | 7206700 ¢ 550 500 | 360 | 01780 Re3al] 1780| 200 | ¢ 180| O 430 | 200 | soo| 380
h 20EE Loz, E A0FB ¢ 1800 | 721670 ¢ 550/ 500 | 360 | 0 2000) Re3al] 20001| 200 | @ 180( O 430 | 200 | 500 | 380
& 2000 |72 67000 550 500 | 360 | 0 2160] Redal] 2160| 200 | ¢ 180| O 430| 200| s00| 380
i i Dlle i @“Gﬁ ©250 |84179C] 960 | 60 | 41 |D270 |Rc1 | 270 | 25 | @22 | O 55 22 57 50
‘ ‘
MM @ @ ®f @ R|EF oo
Mj\ )M ! o - KK LF | L |vmm| P R | RE | TF | UF | VF | W | WF | YP | zF
¢ D@ &) O
—— @320 | M10x 1.250| 1030/ O | ¢ 120 580 330 O sgo| 720/ O 150| O 0 | 1280
oooo i ©400 | M12x 1.250| 1030/ O | ¢ 160 580 360 O 7o0| 840l O 150 O 0 | 1280
SR e K ‘ UF ©500 | M16x 150 | 1030/ O | ¢ 220 580 470/ O 860| 1040/ O 150 O o | 1280
LFOOO0OO0OOoOOo
©630 | M16x 150 | 1060/ O | ¢ 220 610/ 560/ O 980| 1160/ O 150 O o | 1310
©800 | M20x 150 | 1240/ O | 250 670/ 700 O | 1100| 1430| O 90| O o | 1500
1000 | M20x 1.50 | 1240\ 00O | 250 670| 840 00O | 1380| 1620 O 190| oo| o | 1500
0 1250 ¢ 250 © 100 0x 1.5 0 250 6 8 380| 16 9 59
@ 1250 | M27x 20 0 | 1140| ¢ 3200 730| 1040| O 650] 1680 1960 210 | O 350| 270 1650
© 1400 | M36x 20 0 | 131 | ¢ 400 850| 1230| O 760] 1900 2260 250 | O 40| 200| 1920
© 1600 | M36x 20 0 | 131 | ¢ 400 8s50| 1340| O 760] 2120| 2480 250 | O 40| 200 1920
N ¢ 1800 | M36x 20 O | 131 | ¢ 400 850| 1560| 0 760 2340\ 2700 250 | O 40| 200 1920
T © 2000 | M36x 20 0 | 131 | ¢ 400 850| 1630| 00 760] 2500 2860 250 | O 40| 200 1920
B L{_}J.Um‘ D1 ©250 | M42x 2 O 162 | @ 45 | 109 | 201 |0 90 | 312 | 356 | 30 O 48 30 | 235
. 0ADDODOO0000MO0D0noono
ZFOOOoooog
A WFE __YP. POOOOOO
h_ | VE| 20EE oos E
A0FB
®
I T -
dle ol
- - | |
RE|MM @ )@ ®8 ~® | R|EF
(s m{? : !
3 L ‘ ‘
goooo ! Lo
oooooo \@\:@ @’/)@/
Jo0oB1 ©
oooo TF
J HOOOOOO K UF
LLoooooog F

Ooooooooo



Lz

Ooooooooo

CA

gooooooo

goooogooo

-
10H-201 CA[DO|N[OOOOO
i
8B HH o]
® ¢ 32 ¢ 100
A _W,_FP pPOOOOOO .
L.h_ 20EE
LR
Il
T T A
O o o
MM| ®-f
DDDDD/ % }W\I/ MR -‘
oooooo
00oB1
goog
KK F J HOOoOoOoOO K T‘ gov
xcoogoog
zcoooooag
-
o o
® ¢ 1250 ¢ 250 Sl
J
A F YP POOOOOO
h_| VB 20EE
T g
REMY] &
7 ~
ooooo g
pgooooo
000B1
oooo
KK
J HOOOOOO |
xcoooooo
zcoooooo
10H-201 CC[OO|N[0D0O00 |
J COE
®p 1250 ¢ 250 S
1
A _WF YP pOOOOOO
h_| VA 20EE
A7
[
REMN@ @)
7 A
gooooo
gooooo =
goo0B1
ooog
KK
J HOOOOOO
xcoooooo
zcoooogo

000mnm
oono

oo

A | B | B cD D | E |EE| EW F | FP | H h J K KK

oo
@320 [220190) ¢ 240] 170 @12H90| 100|00 440 Rebisll 16883,05) 100| 340| 300 60| 380 250| M10x 1.250
© 400|241 2100 300] 1901 | ¢14H9M| 130 |0 5000 Rebal 20883e,0| 100| 340| 300 70| 3801 250| M12x 1.250
@500 |32128000p 340) 220 | ¢14H90| 190 |0 620 Reball 20883:.0| 100| 340| 300 100| 380 250| M16x 1.50
© 630 |321280p 340 2201| ¢14H90| 190|00 760 Resll 208836, 100| 340| 330 100| 380 250| M16x 1.50
© 800 |4@ 36(0p 390] 2701| ¢20H90| 220|001 9401 Resll 32800000 1601| 430| 310 120| 450 320| M20x 1.50
@ 10000 |40 36([4p 39C] 2701 | ¢20H90| 220 |00 114[Rch20] 32885000 1601| 430| 310 120| 450 320| M20x 1.50
@ 1250 |54 49([tp 460} 360 | ¢20H90)| 270|001 138[RcY201 32885000 O | O | 370| 160| 450| 320| M27x 20
@ 1400 |721 67(]p 550] 500 | ¢28HI0| 3601|0 156[Rc34l 40885005 O | O | 430| 200| 500| 380| M36x 200
© 1600 |721 6700 5500 5001 | @28H90| 360 |0 178[RcH4l 408050 O | O | 430| 200| 500| 380 M36x 20
@ 18001 |72 67([p 550] 500 | ¢28H90| 3601 |0 200[Rc4l] 40885001 O | O | 430| 200| 500| 380| M36x 200
© 2000 |72167(jp 550} 500 | ¢28H90| 360|001 216[RcH4l 40885005 O | O | 430| 200| 500| 380| M36x 20
©250 (801790 @60 | 60 | @36H9 | 41 [O270|Rc 1| 50899 | O | O | 55 | 22 | 57 | 50 | Md2x 2

oo L LR X zC

MM | MR | P | RE | T |VF| W |WF YP

oo CAO|ccO| cAD |ccO CAD |ccO cAD |cco
9320 | 0 |0 | R0 O | ¢ 120 R140] 580 O 80| O |1s0l 0 | 13700 O | O | 1490 O
@400 | O | O | R170] O | ¢ 160 R160] 580 O 80l O | 150/ O | 1370l O | O | 1510 O
9500 | O | 0O | R90 O | ¢ 220 R160] 580 O 1000 O | 150l 0 | 13700 O | O | 15100 O
9630 | 0O | O | RO0 O | ¢ 220 R160) 610 O 1300 O | 150/ 0 | 1400 O | O | 1540 O
9800 | 0 |0 | R8O O | ¢ 250 R220l 670 O 180 O | 190l 0 | 17500 O | O | 1950 O
91000 | 0Ol 00| R270 DO| @ 2500 R220l 6700 DO | 480 DOO| 190 OO 1750 DOO| O | 1950, OO
@ 1250 | 320 360 R220| R260| ¢ 320| R220| 730| 0 650] 140 210 0O | 350 1810 1990 270| 2010 2190
@ 1400 | 380 440 R300| R320| ¢ 400| R300| 850| O 7600 200 250| O | 410 2100 2360| 290| 2380 2640
@ 1600 | 380 440 R300| R320| ¢ 400| R300| 850| O 7600 2000 250| O | 410 2100 2360| 290| 2380 2640
@ 1800 | 380| 440 R300| R320| @ 400| R300| 850| O 760 250 250| O | 410 2100 2410| 290| 2380 2690
@ 2000 | 380 440 R300| R320| @ 400| R300| 850| O 760 250 250| O | 410 2100 2410| 290| 2380 2690
®250 | 54 | 58 | R42 | R46 | @ 45 | R42 | 109 | 0 90 | 30 | 30 | O | 48 | 264 | 298 | 30 | 300 | 334

ODADDDODDOOODODOOmMmODDOOODOOD

Ooooooooo



848

CB

5
10H-201 CB[IO] N T

B@j

® 3209 100

gooooooo

000 mm

A FP POOOOOD
Lh_ 20EE cb
LR A
H HH cD o 1 o
w £ Q © Bf o
ooooo T \MR > 11 ©
oooooo T s
000B1 oooo |ew
KK FLoJ HODODDO K T uB
- xcoooooo 0010 E
[} zZzcoooooo
0 |
0 "
= B I o]
0 g 1250¢ 250 SR Ay
o 4
0
u WFE_YP pPOOOOOO gos8_ E
i | VB 20EE cp
A
A7 b LR 7
= o
REMMI @ 5) B 0
an [ L e MH
ooooo &l [©]
0ooooo “ o
00081 ©
ooog EW
KK
J HODOOODO KL uB
xcoogooo
zZzcoooood |
10H-201 CD[OO]N[DO0OO |
—
B I_(_FLL} o]
®p 1250 ¢ 250 -
4
WE_YP, pOOOOOO oo8 E
_h_| vl 20EE cp
A
A7 K| LR N
JF o™ e I o
REMN¢ = Q @) ®1
A PR T
noooo 2 & O
000000
afafsf: ©
nooo JEw]
KK J HOOOOOoad KT L uB
XcoOoOooon
zcoooooo

ooom gooooood
ooo
oo
A | B |B|CcD |CP|D|E|EE| EW | F |[FP| H | h |J]|K KK
oo
9320 (20190 g 240 170|@1288"| 460] 100|0 4400 Rchis( 168543 | 100| 340| 300| 60| 380| 250|M10x 1.250
© 400 |241210%p 300) 190|@14E8”| 5801 130|0 5000 Rehiall 208970 | 100| 340| 300| 70| 380| 250|M12x 1.250
@500 |32128p 340 220|@145°| 660 190|0 6200 Rebial 208378 | 100| 340| 300| 100| 380 250 M16x 1.50
© 630 |32128p 34 220|@14E2"| 6600 190|0 760] Rcdls(1 208373 | 100| 340| 330| 100| 380 2500 M16x 1.500
© 800 |40 360 390 270|205 | 7800 220|0 940 Rc3sP 328978 | 160| 430| 310| 120 450 320/ M20x 1.50
® 1000 |40 36([0p 390 2701|2052 | 7800 220|0 114[Rcti2f 328378 | 160| 430| 310| 120| 450 320|M20x 1.50
@ 1250 |54149Tp 460 3601|2058”| 7801 2700 138[Recti2N 328373 | O | O | 370| 160| 450| 320|M27x 200
@ 1400 | 721670 550 5000|2858 | 9701 360|0 156[Rc314 4083 | O | O | 430| 200| 5000| 3801 M36x 200
@ 1600 | 7216707 5500 5000|2858 | 9701 3600 178[Rc34P40f%%] | O | O | 430| 200| 500| 380|M36x 20
@ 1800 | 72167(17p 5501 5000|2852 | 9701 3601|0 200[Rc14f1 408383 | O 0 | 430( 200( 5000 3800 M36x 20
@ 2000 | 721670 550 5000|2858 | 9701 360|0 216[Rc31af1 4083 | O 0 | 430| 200| 5000 380 M36x 20
250 (841790 60| 60 |@36%2"| 117 | 41 |m270|Rc 1| 50938 | O | O | 55 | 22 | 57 | 50 |M42x 2
oo L XC zc
LR | MM | MR P RE | T | UB |VF| W |WF YP
oo CBO |cDO CcBO |cDO CBO |CDO
@320 | O | O | R180O| @ 120 R150| 580 O 80| 320/ O | 1500 O | 13700 O | O | 1500/ O
@400 | O | O | Ri80| ¢ 160 R150/ 580 O 80 440/ O | 1500 O | 1370/ O | O | 15000 O
0500 | O | O | Ri190| o 220 R170| 580 O 80| 5200 O | 1500 O | 1370 O | O | 1520 O
0630 | O | O | R190| ¢ 220 Ri70| 6100 O 80 5200 0 | 1500 O | 1400/ O | O | 15500 O
@800 | O | O | R320| @ 250 R230| 670 O 1100 640 O | 1900 O | 17500 O | O | 19600 O
1000 | 00| OO R3200 @ 250, R230| 6700 OO | 1100 640/ OO 190 00| 1750/ OO| O | 1960/ OO
0 1250 | 320] 360| R260| @ 320 R220| 730| o 6500 140 640 210 O | 350 1810| 1990| 270| 2010| 2190
¢ 1400 | 380 440 R320 @ 400 R300| 8500 o 760| 200 800 250 O | 410 2100\ 2360| 290| 2380| 2640
¢ 1600 | 380 440| R320| @ 400| R300| 850 O 760 200 800| 250 O | 410] 2100| 2360 290| 2380| 2640
© 1800 | 380 440| R3200| @ 400 R300| 8500 o 7600 2500 800 2500 O | 410 2100\ 2410| 290| 2380| 2690
© 2000 | 380 440| R320 @ 400 R300| 850 o 760| 250| 800 250 O | 410 2100| 2410| 290| 2380| 2690
©250 | 54 | 58 | R46 | @ 45 | R42 | 109 | 0 90 | 30 | 100 | 30 | O | 48 | 264 | 298 | 30 | 300 | 334

O0LROOOOOODOOOOOOOOO

ODAODDODOODODOOmMODOO0o0o0o00

Ooooooooo



850

Ooooooooo

TA

® 3209 100

gooooooo

® 1250 ¢ 250

oos

000mm
10H-201 TA[DO|N[DDOOOO]
fe
—
B DI
| Y uﬁH
zBOOOOO0O .
A W, FP pOO0OO0OOO
h_ 20EE
TR { H g
?% ®— MM[ K\ ﬁ
N ] Y B2
@ e |8/ |
000BL -
TL KK nooo
um F J HOOOOO0O K BB
XG
HJ
!
B @ 01
g HiN
! H
5
ZBOOOOOO
A WF __YP. POOOOOO
RE h | VE| 20EE
®
i
® | ¢ -
/\ ® MMI = /\ A
S SR lad
] goooo
e
KK
TL | T@l?/l TL | oooo
UM J HOOOOoOOO K BB
XG

eTADOODDDODODDDODODDODOODDOOOGOOOOOO

ooom gooooood
ooo
00
A B B1 BB D E EE F FP H h J K KK

oo
@ 320 |221190 ¢ 240 170 70 100 | O 440| rRchsg 100 340 300 60 380 250 |M10x 1.25[
@ 400 | 2472100 3000 190 70 130 | O 500| Rchal] 100 340 300 70 380 250 |M12 x 1.250
@ 500 |3212800¢ 340| 220 70 190 | O 620| Rchal] 100 340 3000 100 380 250 |M16x 1.50
@ 630 |321280p 340 220 o0 190 | O 7600| Rc31s) 100 340 330 100 380 250 |M16 x 1.50
@ 800 |4@ 360 e 39001 270 100 220 | 0 940| Rc3is 160 430 310 120 450 320 |M20x 1.50J
(@ 1000 | 401 3600¢ 390, 270 100 220 | O 1140 rRch20 160 430 310 120 450 320 |M20 x 1.500
@ 1250 | 541 4900 4600| 360 130 270 | 013801 Rch2g O 0 370 160 450 320 |M27 x 20
@ 1400 | 721 670 550 500 160 360 | 0 156() Rc314 O O 430 200 500 380 |M36x 200
@ 1600 | 721 670 55001 5000 160 360 | 017801 Rc34 O O 430 200 500 380 |M36x 20J
¢ 1800 | 721 6700¢ 550, 500 160 360 | O 20001 Rc314) O [} 430 200 500 3800 |M36x 20J
@ 2000 | 721 670 55001 500 160 360 | 021601 Rc3Ja] O 0 430 200 5000 380 |M36x 20
@ 250 |841790 ¢ 60 60 19 41 0270 | Rc 1 a O 55 22 57 50 |M42x 2

oo
MM P RE TD TL ™ TR um VF w WF XG YP ZB

oo
@ 320 @ 120 580 O @ 16e90| 160 440 R1 O 760 O 150 O 440 ] 1250
@ 400 @ 160 580 [m] @ 25e90| 250 5000 R1.60| 1000 O 150 [} 440 [} 1250
@500 ¢ 220 580 ] @ 25e900| 250 630 R1.60| 1130 O 150 O 440 O 1250
@ 630 @ 220 610 (n] @ 25e900| 250 760 R1.60| 1260 O 150 O 440 O 1300
@ 800 @ 250 670 O @ 25e90]| 2500 9500| R1.60| 1450| O 190 O 570 ] 1530
@ 1000 | ¢ 250 670 oo (@ 25e90| 250| 1140| R2 0O| 1640 O 190 oo 570 [} 1530
@ 1250 | ¢ 320 730| O 650| ¢ 25e90| 2500 13900 R2 0O| 1890 210| O 350 570 270 1620
@ 1400 | @ 400 850 | O 7600| @ 36e90| 360| 15600| R2.50| 2280| 250| O 410 660 | 290 | 1880
@ 1600 | @ 400 8500| O 7600 ¢ 36e901| 360| 1780J| R2.50| 2500, 250 [} 410 660 290 | 1880
@ 1800 | ¢ 400 850 | O 760| ¢ 36e90| 360 | 2000 R2.50| 2720| 250 [} 410 6601 2901 | 1880
@ 2000 | @ 400 850 | O 7600| ¢ 36e90J| 3601| 2160J| R2.50| 2880 250| O 410 660 2900 | 1880
@ 250 @ 45 109 0 90 @ 45e9 45 270 R3 360 30 O 48 76 30 229

OAOOO0O0O0O0O0O000OO0O0000000

Ooooooooo



852

Ooooooooo

TC

gooooooo

000 mm

10H-201 TC[IOJN

e 320 ¢ 100
5
S i °
8000000
A W. FP pPOOOOOO
E no7 h 20EE BD
®
R @ @ § f t
o] Foll-(@) o) W EIRH-@ (D ——1®
7/ == 24 N P
@ @ ooooo { 11 IF
e S -
TL ™ TL KK oooo
um F J HOOOOOO K BB
XID1/2000000PH
®p 1250 ¢ 250
|
B ] 01
N
ZzB0 00000 ,
E oos A WF__YP. pOOOOO0OO
RE h VE| 20EE BD
®
o . T
NORAE R
Aol 7z
uw|TD © MM - - —_— —
L Dot = He @ &) D
©77© goooo
© | e = e B e T
KK
©
TL, ™ TL oooo
um J HOOOOOO K.l |BB

XIO012000000PH

goooogooo

10HUI?2

ooom
ooo
oo
A | B |B|BB|BD|D|E|EE|F|[F|[H/|h/|[J]|K KK MM

oo

9320 (22190 ¢ 240 170| 70| 300| 100 |0 440 Rebsl) 100| 340| 300 60| 380 250| M10x 1.2500¢ 120
¢ 400 (2412109 300 190| 70| 300| 1300|0500 Rebafl 100| 340( 300 70| 380 250 Mi12x 1.2500¢ 160
@500 3028 340 220| 70| 300| 1900|0620 Reball 100| 340| 300 100| 380 250 M16x 1.50 | 220
¢ 630 32280 340 220| 90| 300| 190 |0 760 Resl 100 340| 330 100| 380 250| M16x 1.50 |@ 220
¢ 800 |4036Tp 390 270| 100| 350| 2200|0940 el 160| 430| 310 120| 450/ 320| M20x 1.50 |@ 25C
¢ 1000|4036 390 270| 100 400| 220 |0 114[Reh2ll 160| 430| 310 120| 450/ 320| M20x 1.50 |@ 250
¢ 1250|5449 460 360| 130| 430| 270|0138[Reball O | O | 370 160| 450 320| M27x 20 | 320
¢ 1400 | 720670 550] 500| 160 530| 360|0156[Re34ll O | O | 430 200| 500 380| M36x 20 | 40C
¢ 1600 | 7216700 550 500| 160| 530| 360|0178[Re34ll O | O | 430 200| 500 380| M36x 20 | 40C
¢ 18001 | 7216700 550] 500| 160 530| 360|0200(Re34l O | O | 430 200| 500 380| M36x 20 | 400
¢ 2000 | 7276700 550 500| 160 530| 360|0216[Re34D O | O | 430 200| 500, 380| M36x 20 | 400
9250 (80790960 | 60 | 19 | 58 | 41 |D270|Rc 1| O | O | 55 | 22 | 57 | 50 | Md2x2 |9 45

S o e o [ | TR um | uw | vE | w | wE| x| v | z8

oo PH | mOOO

@320 | s8C] 780 30 | O |@l6eon 160 550 R1 0 870 520 O | 150 O | 780| O | 1250
@400 | 580 780| 30 | O |@25e9] 2500 630 R160 1130 590 O | 150 O | 780 | O | 1250
@500 | 580 780 30 | O |@25e90] 250 760 R160] 1260 710 O | 150 O | 780 | O | 1250
@630 | 610 780 00 | O |@25e90] 2500 880 R1.60] 1380 8600 O | 150 O | 79.50 O | 1300
@800 | 670 980 70 | O |@25e90] 250 1140 R1.60] 1640 1040) O | 190 O | 9550 O | 1530
¢ 1000| 670] 1000/ 120 | OO | 25e90] 250 1320 R2 0 1820 1280) O | 190 OO| 9550 O | 1530
@1250| 7300 1020| 90 | O 650 @ 25e90] 250] 1580 R2 [} 2080] 1580 210 O | 350| 98.50 270 16200
¢ 1400 | 850] 1190/ 130 | O 760 @ 36e90] 360] 1830 R2.50] 2550] 1830 250 O | 410| 112,50 290 18800
¢ 1600| 8500 1190/ 130 | O 760 @ 36e90] 360] 2000 R2.500 2720] 2000 250 O | 410| 112,50 290 1880
¢ 1800| 8500 1190 130 | O 760 @ 36e90] 360 2280 R2.50] 3000 2280 250 O | 410 112,50 290 1880
¢2000| 8500 1190| 130 | O 760 @ 36e90] 360] 2460 R2.50] 3180] 2460 250| O | 410| 112.50 290 1880
@250 | 109 | 134 6 |90 |p45e9 | 45 | 304 | R3 | 394 | 304 | 30 | O | 48 | 1325 | 30 | 229

OAOOO0OO0O0O0O0O000OO0O0000000

Ooooooooo



i 10H|:|2 goooogood 00 0m 000 m ooooooond 1OH|:|2

goooood goooood
god
oo ww
A 2 O000n0nna
e 3200 ¢ 100 e 1250 ¢ 250 oo nopoon | 00000
¢ 320 221190 5000 © 360 ¢ 610
‘ @ 400 2402101 500 © 4000 @ 610
-1 @ 500 371 2801 550 @ 450 ¢ 610
o ) ¢ 630 3128|550 @ 450 ¢ 610
¢ 800 403600 650 © 600 @ 610
- — - — @ 1000 401 3611 650 ¢ 600 @ 610
pgooooooog —
oooooo ooooooooo ¢ 1250 541 4911 710 ¢ 710 @ 710
¢ 320 ¢ 63 oooooo
13000000X 1400 750 800 800
D s D 1250 0 250 ¢ 721 6701 0 ®
14000000X 14000000X 91600 | 7216700 750 ¢ 800 ¢ 800
A w A WE
1800 750 800 800
-] ooooog ooooog 9 77 67010 [0 [ —
¢ 320 ¢ 63 1250 ¢ 250 92000 | 7216700 750 ¢ 800 ¢ 800
u DU%SE'DEOEDDXD 13000000X o
E T/am D(PD ooaox @ 250 841 7901 80 ¢ 80 @ 80 B
E JADDOOOOO0O0OO0mooooooooD B
] O
O ooooo ooooo O
] ]

000 |(boooobooo| oooooo oooooo
ooo 800 1300 2000

O0edO0OO0OOOOOOOOOOOOOOOODOO
goopooooooooooooooooooon
Ob0edO0OO0OO0OOOOOOOOOOOOOODO
OO0ed0D00O0OO0OOODODDOODOOODODOOODODOOO
Oo0ed00O0OO0OO0OOOOOOOOOOOOOOOODO
O0eWFODOOODOODOOOODOOFADODOODODOODO
O0ed000DO0OOOODE320¢ 1000000000000 O0O00OOODOOOO
goooobooooooooooooo

goboi1ogooooosgoooooon

oooo oo
10000MMsSO0mooon o000 CA cD CF cMm CN DK ED | GW | KK TA TV T™W
oo
®¢ 320¢ 100 032 RSA-10-A | 43 |p10H9 | ¢ 19 13 56 |@12.9 | 26 | 1459, [MI0x125| 21 |105:0.1| 17
® 40 RSA-12-A | 50 |@12H9 | ¢ 22 15 65 |@15.4 | 30 | 1609, [M12x125| 24 |12 01| 19
¢ 50 64 |@16H9 | @ 27 19 83 |@19.4| 38 | 2100, |Mi6x15| 33 |15 £0.1| 22
cF — 1 RSA-16-A
¢ 63 64 |@16H9 | @ 27 19 83 |@19.4| 38 | 2153, |m6x15| 33 (15 01| 22
oo
Loo ¢ 80 RSA20A 77 |Q20H9 | ¢ 34 23 100 |@244| 46 | 2500, |M0x15| 40 |18 01| 30
® 100 77 |Q20H9 | ¢ 34 23 100 |@244| 46 | 2509, |M0x15| 40 |18 01| 30
CN
CD. TA

KK
DK



Ooooooooo

10HI?2

ooo

O

10000mMmTOO
® 320 ¢ 100

ER

EW

gooooooo

000 mm

RA

e 1250 ¢ 250

KK

000 mm

goooogooo

gobooi1ogooooTOoO

20000@MYO0mMOn
e 320 ¢ 100
ER

RA

e 1250 ¢ 250

gooo

CP|CT

CW

EW

CW

CP|CT

CF|

cc

KK

FOOOOMMFOO

°p 32

000B:
oooooo
000By

oooo

e
ooo
e

/|

ful

FQ

FA

FC FD

FJ

e 400 ¢ 160

000B:

FA FC

FD

FJ

KK

eFO00O0OOOCOOOOOOOOOOOOOOOOODODODOOOO
oooboomooOoboooboOoboobib2000000000000
000000000 moooooooooooooooo0o00ooo

eCAOCBOCCOCDOTAOTCOOOOOOOOODODOO

oo
oooo A CA cc cD CF D ER EW J KK RA
oo
032 RTA-10-A0| 230 5500 | 200 | 12HO0 @ 240| 240 | R120| 16EQ%.| —0O |M10x 1250 6700
@400 | RTA-12-A0| 250 600 | 200 |@ 14HOU @ 240| 240 | Ri120| 20BQ%.| —0O |Mi2x 1250 7200
@500 o0
——— RTA-16-A0| 330 600 | 200 | 14HOO @280| 270 | R140| 20EQ%.| —O |Miex 150 740
@630
= = 8 = & B g =
¢ 800
———— RTA-20-A0| 410 850 | 300 |@20H9U @ 360| 360 | R190 | 32EQ3;| —0O |M20x 150 1040
¢ 1000
¢ 1250| RTA-27-A0| 510 | 1000 | 320 |@ 20H9L @ 490| — 200 | 32EQ%,| 130 [M27x 20 | 12000
@ 1400| O O o O ] o |o 0
e O
¢ 1600 00
———— RTA-36-A0| 690 | 1250 | 330 |¢ 28H90 ¢ 620 — 280 | 40B83,| 180 |M36x 20 | 1530
1800
e g O 0 O ] o |0 O
@ 2000 [ui
250 | RTA-42-A 81 144 48 |9 36HI0 o 790| — 36 50507 20 |M42x20 | 180
O 0
[ui
O 0
ooopoD2000000vYOoODoOO
oo
oooo A |CA|CC| CD |CF|CP|CT|CW| D |ER | EW KK RA
oo
932 RYA-10-1-A | 23 55 [ 20 |p12%%| 924 | 46 | 32 8 | 24 |R12 | 16052 | M10x125 | 67
@ 40 RYA-12-1-A| 25 60 |20 |p14%%| 924 | 58 | 44 | 12 | 24 |R12 | 20852 | MI12x125 | 72
(p 50 H9 015
— 1 RYA-16-A 33 60 | 18 |p145%| @28 | 58 | 44 | 12 | 27 |R14 | 20052 | Mi6x 15 74
¢ 63
¢ 80 Ho 015
— 1 RYA-20-A 41 85 | 28 |9p20%g| @36 | 78 | 64 | 16 | 36 |R19 | 3255%| M20x15 |104
9 100
@ 125 | RYA-27-A 56 | 100 | 35 |p20%%| 940| 78 | 64 | 16 | 40 |R20 | 32052 | M27x2 120
® 140
@ 160 Ho
——— RYA-36-A 74 | 125 | 365 | 28| @55 | 97 80 | 20 55 |R27.5| 40053 | M36x 2 152.5
¢ 180
9 200
9250 | RYA-42-A 86 | 144 | 49 |p36%3| 70| 117 | 100 | 25 | 65 |R35 | 5033 M42x2 179
O000OFOOOOOOFDO
oo
oooo A | BL | B2 e | FA|FC | FD | FJ | FK | FM | FN | FQ | FR KK
0o
©32 | RFS-10T 245 | 17 | 10 | 1 31 | 28 4 | 63 |11 |@25| 24 | 45| 25 |M10x 1.25
© 40 | RFS-12T 24 19 | 13 | 1 33 | 255 | 11 | 695|135 |¢32 (019 | 7 35 |M12x 1.25
50163 | RFS-16T 32 22 | 17 | 15 | 43 | 33 13 | 89 |16 |@40 |024| 8 | 4 |M16x 15
80 | RFS-20T080 | 40 27 | 22 | 2 53 | 42 15 |110 |22 |50 [O030| 9 | 5 [M20x15
© 100 | RFS-20T100 | 40 27 | 24 | 25 | 56 | 49 18 |123 |24 |64 |36 12 6 |M20x 15
¢ 125 | RFS-27T 54 36 | 32 | 25 | 74 | 62 21 |157 |30 |@76 |C46 |14 | 7 |M27x2
©1401p160| RFS-36T 72 50 | 36 | 3 96 | 80 23 |199 |36 |@88 |O55| 18 8  |M36x 2

Ooooooooo



= 10H02

gooooboogod 000mm
goooo
cBOCDOOOOOO
e 320 ¢ 100 e 1250 ¢ 250
- . 0000 & @) oo
L @ @1& Y & ‘\\L a1 Eﬂ/ BHI
- @ ¥
i BT!
K K BF O BL| XM BL
KD‘ KC wM

0 ejJ000DOOOCBOCDODOOOOOOOODO
]
]
H  TADODODOOO
B e@320¢ 100 e 1250 ¢ 250
a]
M um
gog ooo
T @) o g e T T 2 e -
E|TD r{w/\ ‘ 7N @[ gl Fr1@%77 3 ®
| © et [P 1 S ¢GHIGE | X
P T ol Pl o
oor7 &7t oos GTh 0ogm
0000 H ‘ \40GB ‘
oo M |op \40GB co oL 5o eoll| ™ |lleD col| 6L |lco
T em | T ok GM GK
eJ0UI0UDODOTAIUDDODOODODO
TCcOOoOoood
®p 3209 100 e 1250 ¢ 250
um
E oos
o) [JRNSEER g""‘"\_r—l_r“}
uw|o] + UWTDi:W Pyl L & &
| (RS PR e
e i—F e
‘ H ‘ GTH 000m
GD oolll ™ |/jep~¥ICE Gol | oL |lco
GM oK

eJ0000DOOOOTCOOODOOOODODOO

000 mm

goooogooo

gboooceiCcbooooono

10HUI?2

0o
oooo BF BH BL BO BT KC KD KG KO LB WM XM
oo
@32 BCA-12-A 40 35 10 10 8 60 5 55 5 ®9 85 65
@ 40
@ 50 BCA-14-A 40 45 12.5 15 8 70 10 65 5 @11 105 80
@ 63
@ 80
— 1 BCA-20-A 65 60 15 15 12 95 5 85 10 014 135 105
@ 100
@ 125 | BCA-20-1-A 77 75 17.5 175 14 112 175 — — ¢ 18 145 110
@ 140
@ 160
— BCA-28-A 120 115 225 225 23 165 225 — — @22 175 130
@ 180
@ 200
@ 250 | BCA-36-A 165 140 25 25 28 215 25 — — ® 26 220 170
goooTAOTCOOOOO0O
oo GM ™ um
oooo E |GB | GD |GE | GH | GK | GL GO | GT | TD uw
oo TAO [TCO TAO (TCO |TADO [TCO
@32 BTA-16-A |044 |99 | 15 | 56| 40| 80| 60| 59| 78|10 12 |@ 16% 44| 55| 76| 87| 52
@ 40 050 73| 86 50 | 63 |100| 113 | 59
@ 50 BTA-25-A  |062 |@ 12| 23 72| 50|110| 80| 86| 99|15 12 (925% 63| 76| 113|126 | 71
@ 63 076 99 | 111 76| 88126 |138| 86
¢80 094 118 | 137 wo| 95114 145|164 | 104
——— 1 BTA-25-1-A @14 23 | 92| 70|120| 85 175| 14 |925¢y
@ 100 0114 137 | 155 114 | 132 | 164 | 182 | 128
@125 | BTA-25-2-A (0138|@ 18| 25 | 115 | 85| 145|105 | 164 | 183 | 20 25 cp25£ 139 | 158 | 189 | 208 | 158
¢ 140 0 156 192 | 219 156 | 183 | 228 | 255 | 183
@ 160 0178 214 | 236 4o | 178 | 200 | 250 | 272 | 200
— | BTA-36-A ——— ¢ 22| 36 | 170 | 130 | 185 | 140 225| 25 |@36cy
@ 180 0200 236 | 264 200 | 228 | 272 | 300 | 228
@ 200 0216 252 | 282 216 | 246 | 288 | 318 | 246
@250 | BTA-45-A |0270|¢ 26| 45 | 210 | 160 | 215 | 165 | 315 | 349 |25 32 ¢45% 270 | 304 | 360 | 394 | 304

Ooooooooo



	仕様
	形式記号
	外形寸法図
	関連部品



